4 T.Y.B.Com {April - 2016} A

Accounts Group (REVISED) (Paper - V)
Financial Accounting & Auditing

Introduction to Management Accounting
& Introduction to Accounting

QP Code : 17583

.

(Revised Course — New Pattern)
(3 Hours) [ Total Marks: 100

N.B.: 1. Working Notes should form part of your answer.
2. Proper presentation and neatness is essential.
. 3. Use of simple calculator is allowed.

Q.No. 1.A. Multiple choice question (Any Ten) (10)
' 1. Assets that are expected to be converted into cash in the normal course of business

a) Tangible assets b) Current assets
c) Fixed assets d) Depreciable assets

2. An asset which does not have a physical identity
a) Fixed assets b) Wasting assets
¢) Intangible assets : d) Current assets

3. Following is not a Quick Liability

T a) Unclaimed dividend b) Public deposits
¢) Bank overdraft “d) Advance received
4. Net profit ratio is .
a) Balance — sheet ratio b) Reverse statement ratio
¢) Composite ratio d) None of the above

5. Standard current ratio is
a)2:1 ‘ ' b) 1:1
c) 65% d)1.33

6. What ratio indicatés the relationship between shareholders fund and outsider’s fund?

a) Proprietary ratio b) Operating ratio
¢) debt-equity ratio - d) none of these.

7. The minimum amount of working capital required to enable the concern to operate at the
lowest level of activity .

a) Negative working capital b) Positive working capital

¢) Permanent working capital d) Seasonal working capital

8. The purchase and sale of fixed assets & investments
a) Investing activity b) Operating activity
c¢) Financing activity ‘ d) None of these.

9. Payment of dividends would be shown in the cash-flow statements as
a) Operating cash-flow b) Investing cash-flow
¢) Financing cash-flow d) Cash or cash equivalents
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10. Redemption of debentures by converting them into equity shar'40,000
a) Cash outflow b) Cash inflow

¢) none of the above d) Both

11. The total current assets without deducting the currentliabilities

a) Gross working capital : b) Wet working capital
c) Permanent working capital d) Temporary working capital
12. with ensure high return on investment.
a) Adequate working capital _ b) Surplus working capital
¢) Shortage working capital d) none of these. '
Q.No. 1.B. State whether the following are True or False (Any Ten). (10)

1. Auditor’s duty is to detect and prevent frauds.

2. Window dressing is provided in the company law.

3. Before preparing an audit programme the auditor should obtain knowledge about a new
clients business.

4. There is no risk involved in Audit-Sampling.

5. It is the responsibility of the management to establish internal control system.

6. Vouching decides authenticity of the transaction.

7. Purchase invoice is the voucher for purchases.

8. Fixed assets should be shown at market value.

9. The auditor should confirm that the asset is legally owned by the Co.

10. Auditor has to see that patent rights are alive.

11. Agreement of a trial balance indicated that the books are error-free.

12. Compensation error affect the trial balance - '

Q.No. 2. Following are the comparative balance sheet of Morgan Company: (15)
Liabilities 20?14 2‘25 Assets 20?14 20?15

Share Capital 70,000 | 74,000 | Goodwill 10,000 /5,000
Debentures 12,000 6,000 | Land ‘ 20,000 30,000
Trade Creditors 10,360 11,840 | Stock-in-Trade - 49200 | 42,700
Provision for Doubtful Debts 700 800 | Trade Debtors (good) 14,900 17,700

{ Profit & Loss 10,040 10,560 | Cash 9,000 7,800
1,03,100 | 1,03,200 1,03,100 | 1,03,200

1. Dividends were paid totaling ¥ 3,500 -

2. Land was purchased for 10,000 and amount provided for the amortization of goodwill totaled
5,000 '

3. Debenture loan was repaid 6,000
You are required to prepare cash flow statement using Indirect Method.

OR
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Q.No. 2. A)Workout Trend percentage for the following Balance sheet. (OS)
Particulars 20;3 20;4 22;15
SOURCES OF FUNDS
Owners Fund
Capital Account 3,00,000 |-3,40,000 4,00,000
Reserve Fund 1,00,000 | 1,00,000 | 1,00,000
(1) | 4,00,000 ; 4,40,000 | 5,00,000
Loan Fund
Secured Loans 50,000 60,000 60,000
Unsecured Loans . | 1,40,000 | 1,80,000 | 1,60,000
_ (2) | 1,90,000 | 2,40,000 | 2,20,000
Funds Available (1 + 2) 5,90,000 | 6,80,000 | 7,20,000
APPLICATION OF FUNDS
Fixed Assets 2,80,000 | 3,60,000 | 4,00,000
‘Working Capital
Current Assets
Accounts receivables 1,40,000 | 1,60,000 | 2,00,000
Loans and Advances 60,000 80,000 | 1,00,000
Cash And Bank 20,000 | 20,000 20,000
Stock 1,35,000 | 1,50,000 | 1,60,000
(A) | 3,55,000 | 4,10,000 | 4,80,000
Current Liabilities
Accounts payables(B) 45,000 90,000 | 1,60,000
(A+B) | 3,10,000 | 3,20,000 | 3,20,000
Funds Employed (1 +2) 5,90,000 | 6,80,000 | 7,20,000
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Q.No. 2. B) Prepare Comparative Income Statements: o7
Particulars 2014 2015
Net Sales ‘ 1,90,000 2,00,000
Less: Cost of Goods Sold
(2) Opening Stock 44,000 40,000
{(b) Purchases 84,000 72,000
(c) Wages 40,000 36,000
(d) Factory Expenses 32,000 28,000
2,00,000 1,76,000
(e) Less: Closing Stock > 46,000 44,000
o 1,54,000 1,32,000
Gross Profit (1 -2) 36,000 68,000
Less : Operating Expenses '
(a) Establishment Expenses 8,000 6,000
{(b) Management Expenses . 2,000 2,000 |
(c) Selling Expenses 6,000 10,000-
A 16,000 18,000
Operating Profit Before Interest 20,000 50,000
Less : Interest 6,000 8,000
Net Profit After Interest 14,000 42,000
Net Non-Operating Income
(a) Non-operating Income
Interest Received 20,000 -
Less : (b) Non-operating Expenses
Loss on Sales of Assets 2,000 2,000
18,000 2,000
Net Profit Before Tax 32,000 40,000
Less : Income Tax : 22,000 24,000
Net Profit After Tax trf. To Reserve 10,000 16,000
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Q.No. 3. From the following Profit and LossAccounts and Balance Sheets of Glimmer Ltd. calculate
following ratios: (1) Current Ratio (2) Proprietory Ratio (3) Liquid Ratio
(4) Cost of Sales Ratio (5) Administrative exp. to sales ratio
(6) Selling expenses to sales ratio a1s)

Balance Sheet

Liabilities 29-15 ‘ Assets 2015
T : T

Capital of 10 each 70,000 | Fixed Assets 90,000
Reserves 80,000 | Current Assets 1,10,000
Secured Loans 22,000 | Loans and Advances 52,000
Current Liabilities 26,000
Provisions 54,000

2,52,000 ©°2,52,000

Profit and Loss Account for the Year Ended....

2015 . 2015
Particulars = Particulars =
To Opening Stock 44,000 | By Sales 2,10,000
To Purchases 84,000 | By Closing Stock 46,000
To Wages 40,000
To Factory Expenses 32,000
To Administrative
Expenses © 8,000
To Selling Expenses 6,000
To Managerial
Remuneration 2,000
To Tfd. To Reserve 2,000
| To Income Tax ' 22,000
- To Proposed Dividend 6,000
To Balance C/fd. 10,000
' ' 2,56,000 2,56,000
OR :
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Q.No. 3.You are required to prepare a statement showing the working capital required to finance the
 level of activity of 6,000 Units per year from the following information : : 15)
Raw materials are in stock on an average for 2 months. v ‘
Materials are in process on an average for half a month.
. Finished goods are in stock on an average for one month.
Credit allowed by the suppliers is 11, months of purchase of raw materials and credit allowed to
the customers is 2, months. '
Lag in payment of wages and overheads is one month.
Maintain 10% as margin of safety.
7. Activities are spread evenly throughout the year.
Cost per Unit:
Raw material T10

Wages TS5
" Total cost T30
Profit is 20% on selling price.

b .

o &

Q.No. 4. How would you vouch the following. / (15)
a) Advertising b) Wages ¢) Rental Income.
OR
Q.No. 4. a) Explain different types of errors ' (8)
b) Distinguish between Auditing and Investigation @)
Q.No. 5. a) What are the factors to be considered which framing an audit programme ? @)
b) Explain note book and What are its contents? ®)
OR
Q.No. 5. How would you verify the following. @as)
a) Stock b) Investment c) Secured Loan.
Q.No. 6. A) Discuss factors affecting working capital. 10)
B) Explain the following concept - (10)
i) Going concept ii) Materiality concept
OR
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Q.No. 6. A) Short notes (any two) ‘ (10)
1. Common — size statement
2. Current ratio
3. Permanent working capital
B) Short notes (any two) (10)

1. Audit sample
2. True & fair view
3. Error of Principle
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